Sat fFeb 26 12:37: 26 1994

11/2” SCH. 40
—~—— GALV. STEEL
RAILING POST

NON~—SHRINK

DT WALL FLANGE e
’ s DT WALL FLANGE
’ , 9 BAR 3x3/8 HOOP e s
. e 9" BAR 3x3/8 HOOP
3 S
1 O ° Al /’/ e 4 %
/ - //’ P —
© ] . e
}i B s , Nl / A P %/D/
: < T % v
(@)} A /// ’ -
™ / /,/ {
''''''''''' ) PN Ve //,/ !
7,\5 7/ 'b) ,, - / /
“—11/4" T 2" N m@% —11/4
/ TR A I
° = v v s
1 O o ) / //M/ 1’_@
/ ’ ~ —
\ _ :Q //// / 3"E, ,,»_,‘ ,}/21:
, . - a4 (7) BARS 1 1/2x 1/4
1'—11/2 ' s 7 3/8” @ 40° (TYP.)
S
) (7) BARS 1 1/2x 1/4
7 3/8 o
9/16 @ HOLE CNTR. IN BAR
2 1/2x 3/8x 0'—3" BOLT CAGE

BENT L 8 1/2x 3 1/2x 3/8x 2 1/2"

TO LADDER WITH 1/2"8 316SS
BOLT (TYP.)

w/ 5/16"@ HOLE FOR 1/4"¢ 316SS MASONRY
ANCHORS WITH 17 MIN. EMBEDMENT (TYP.)

LADDER SECTION /1™

Scale: 1" = 1'-0"

S12

LADDER SECTION /2™

Scale:

NOTE:

ALL LADDER MEMBERS SHALL BE HOT-DIP
GALVANIZED PER ASTM A123 FOLLOWING
FABRICATION. ALL FIELD CUTS & WELDS
SHALL BE BRUSHED TO BARE METAL AND
COLD GALVANIZED.

1”

:(Q
—\‘ b3
Dl r-8 3/4” ,}b ©
~
TOP OF DT l i |
EL. 953-9" T
- ]
o M
|7 3/8" =
b /// 4 “t
| e 5
. I
¢ L/’
ST S
&DT ROOF R T ,»’//, I 9] )
rqn . TR T
FL. 949 -9 // /// ey //// P //,
:ED //,/.”/‘ I g ‘o'
e { : .
G S
e -1S
‘ MmO
/'/,
f‘//, [ ’ ]
£ R — 4 B
A DT WALL FLANGE
| || ~3/47% ROD RUNGS @ 12" O.C.
EXTEND THRU STRINGERS,
PLUGWELD & GRIND
= / ¢
© 6" A7 3/8 o
o |
,/"// e}
7| f=—BAR 2 1/2"x 3/8" STRINGER
/ 4’ 2
Al e
el £F W |
© 2 1”7 GALV. GRATING
A N LANDING
NSNS ERRN ISEEREERNEREEN LI i1 MMQ EL 9371_91»

TRICKING

SEE LANDING SUPPORT SECTION /77

\s7/

EXT. POST

f NON—FERROUS GROUT
/ﬂ bo

4

*

o "é,,
: \?\__aﬁ.”_.ﬂ_‘w.)\

SPACING EQUIDISTANT

1 1/2"¢ NOMINAL SCH. 40 GALV. STEEL

RAILING AND POST (TYPICAL)

r TOP OF CHANNEL

WALL pa N =
WITH 6'—0" MAX.
SEE DETAIL /10 ¢T0¢
/ / S12
s . . : .
< 17
-7 =27
/;, 2 & P ————————— peenamanss »3.“,,..‘_7L~ c R E— — — M7(_ﬂ
1"=0 -2
/-/ 3 g >
Y o
e | o
?= // \\
3 . o ) l\;«:{a}d,/ ‘ e . 6
4” TOE PLATE /11 SEE DETAIL /6 SEE DETAIL / 4\ /
SEE DETAIL  \S12/ \s12/ 12/
INTERIOR EXTERIOR

\4” DIA. FORMED OR CORE

DRILLED RAILING POCKET

ANCHORAGE DETAIL 4™

Scale: 1 1/2” = 1"=-0"

S12

TYPICAL RAILING DETAILS /5™

Scale: 1/2” = 1'-0"

1 1/27¢ NOMINAL SCH. 40 GALV. STEEL

RAILING AND POST (TYP.)

WITH 5-0" MAX.
¢ 70 ¢

1’-0" S12
-
11/2" SCH. 40 GALV. STEEL
POST WELDED TO PLATE -—
37 MIN. 4” x5/16” TOE B WHERE
NOTED ON PLANS, 1/4”
CLR. ABOVE CONC. (MAX.)
MIN. PLATE: — T
ked 3 r’g; i
5"¢ x5/8" BASE R —
WITH 9/16"¢ HOLES
. EQUALLY SPACED ON P ’ s
& @@ 31/2°9 C!RCLE./ L
[¥%) O 4
MIN. ANCHORS: f 7
3 — 1/2"¢ 3186SS )
ADHESIVE ANCHOR WITH .
4 1/4” MIN. EMBEDMENT
L 3" MIN. EDGE (UON)
2
TOP VIEW SIDE_VIEW
INT. POST ANCHORAGE DETAIL /s
Scale: 1 1/2" = 1'=0” @
H———1/4" CLR. GRATING TO ANGLE
— 1" MIN. BEARING
FRAME TABLE
INSTALL 1/4” STOP PLATE
GRATING ANGLE SIZE BETWEEN GRATING SECTIONS.
DEPTH
L— L 1/2 x 1 1/4 /4 # GALV. STEEL GRATING DEPTH
1 1/4 11/2° x 1 1/2" x1/4 ¢ AS SHOWN ON PLANS
11/2 1 3/4 x 1 3/4 x1/4
1 3/4” 2" x 27 x 1/47
k2 124 b2 R T P
> RO RIEYE CROSS BARS ON TOP SIDE
2 1/4” 2172 x 2 1/2° x1 /4
2 1/2 2 3/4 x 2 3/4 x1/4 BAND GRATING BEARING BARS
AND CROSS BARS AT ENDS AND
OPENINGS.
NOTE:

PROVIDE 316SS BOLTS & CLIPS FOR
FASTENING GRATING TO FRAME UON.

LTER ROOF ACCESS LADDER /3™

Scale: 1/2" = 1'-0"

ER151-20

S12

GRATING AND FRAME /o™

Scale: 1 1/2” = 1'=0"

S12

GALV. STEEL ANGLE FRAME WITH
1/2"¢ ANCHOR BAR x 6" LONG

WITH 27 HOOK (FRAME ON ALL

SIDES OF GRATING UON).

o TREAD AS SHOWN ON PLANS

SPACING EQUIDISTANT ,

e

17 MIN. (TYP.)

GALV. STEEL CHANNEL STRINGER

(AS SHOWN ON PLANS)

TYPICAL STAIRWAY SYSTEM /7™

Scale: 1/2” = 1'=-0"

3/8"¢ 316SS TOGGLE BOLT
AT UNGROUTED CELL OF

MASONRY UNIT

11/2"8 SCH. 40

/GALV, STEEL RAILING

1E S

3/8"¢ 316SS ADHESIVE ANCHOR
WITH 3 1/2" MIN. EMBEDMENT

AT CONC. OR GROUTED
CORE OF MASONRY UNIT

END CAP WITH 7/16"9¢ HOLES

wn

T

(_/22

@S

Ao

g

ZI0

Q=

iz

> 1O

ElEs

<

Sin

o<t

L]

S mw}r
S12

WALL MOUNTED HANDRAIL 10N

Scale: 1 1/2” = 1'-0"

S12

17

21/2" 21/2" 1"

SEE DETAIL /8

SIMILAR S12

IRV
11/47
i

0,

GALV. STEEL POST _/
PLA

i —————

WELDED TO PLATE

\— GALV. STEEL PLATE
N

@)

/

11/2"¢ NOMINAL SCH. 40 -—

GALV. STEEL POST WELDED
TO PLATE

77x2 1/2°x1/2", R
WITH 2 9/16”¢ HOLES

=t
4K\z 1/27¢ 316SS BOLTS

WITH WASHERS

CHANNEL STAIR STRINGER

SECTION

ELEVATION

STAIR STRINGER POST

ANCHORAGE DETAIL /5™

No Scale

L2x2x1 /4 ——sm|

AT WALL (PLAN)

Q

R N

J b B!
o T

4" x5/16” TOE R WHEN SHOWN ON PLANS.
FASTEN TOE R TO POSTS WITH 316SS HEX
SCREWS, TOE R TO HAVE HORIZ., SLOTTED
HOLES. PROVIDE 1/4” CLR. ABOVE CONC.
PROVIDE EXP. JTS. IN TOE B AT RAILING
EXP. JT. LOCATIONS.

MIN. ANCHORS:

AT UNGROUTED CELL OF MASONRY
3/8"¢ 316SS TOGGLE BOLT.

AT CONC. OR GROUTED CORE OF MASONRY
3/8"® 316SS ADHESIVE ANCHOR WITH
3 1/2" MIN. EMB.

1 1/2°¢ SCH. 40 GALV. STEEL POST

AT FREE END (PLAN)

TOE PLATE DETAIL /11

Scale: 1 1/2” = 1'=-0"

&z

I HEREBY CERTIFY THAT THIS PLAN, SPECIFICATION,
OR REPORT WAS PREPARED BY ME OR UNDER MY DIRECT
SUPERVISION AND THAT | AM A DULY REGISTERED

PROFESSIONAL ENGINEER U

NOEZa THE LAWS O THE
OF WINNE Tz

CONSULTING ENGINEERS

DATE

DESCRIPTION

DESIGNED DLC GG

1326 ENERGY PARK DRIVE
ST PAUL, MINNESOTA 55108

CHECKED _LJL

CITY OF ELK RIVER

(612) 644—-4389

DRAWN 1B GG _

REVISIONS

G800 SHELARD PARKWAY
MINNEAPOLIS, MINNESOTA 55441

GRAPHIC SCALE
O HORIZ.

2 TYPICAL DETAILS

(612) 546-0432

0
{

WASTEWATER TREATMENT FACILITIES
STAIR & WALKWAY GRATING & RAILING

S12

2 | pate DEC. 1993

steeT 19 of 41 sheets

PROJECT NO.

230-151




